

## Algebra 2

$$x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}, \text{ where } a, b, \text{ and } c \text{ are coefficients in an equation of the form } ax^2 + bx + c = 0.$$

To use with standard *MAFS.912.N – CN.3.7*.

Questions: 8, 23, and 34



## Algebra 2

$$x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}, \text{ where } a, b, \text{ and } c \text{ are coefficients in an equation of the form } ax^2 + bx + c = 0.$$

To use with standard *MAFS.912.N – CN.3.7*.

Questions: 8, 23, and 34



## Algebra 2

$$x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}, \text{ where } a, b, \text{ and } c \text{ are coefficients in an equation of the form } ax^2 + bx + c = 0.$$

To use with standard *MAFS.912.N – CN.3.7*.

Questions: 8, 23, and 34



## Algebra 2

$$x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}, \text{ where } a, b, \text{ and } c \text{ are coefficients in an equation of the form } ax^2 + bx + c = 0.$$

To use with standard *MAFS.912.N – CN.3.7*.

Questions: 8, 23, and 34